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Pracovní list 

Odčítání kladných desetinných čísel 

Úkol: Doplň tabulku. 

Varianta 1    Varianta 2 

PŘÍKLAD VÝSLEDEK PŘÍKLAD VÝSLEDEK 

5,23 - 1,22 =   8,5 - 6,6 =   

298,2467 - 5,42697 =  60,45 - 4,55 =  

6,5 - 1,8 =  5,6 - 1,1 =  

8,888 - 7,019 =  6,666 - 5,017 =  

100,87 - 23,015 =  197,87 - 13,219 =  

8,22 -5,23 =  299,4986 – 56,215 =  

5,426 - 0,2467 =  18,3 - 9,9 =   

10,5 - 2,7 =  4,55 - 0,45 =  

9,019 - 8,888 =  8,1 – 5,6 =  

10,8 -3,15 =  6,666 - 8,017 =  

19,78 - 8,23 =  97,047 - 13,779 =  

7,46 - 2,98 =  48,5 - 8,8 =   

11,84 - 6,5 =  6,485 – 4,25 =  

5,5 - 2,01 =  15,6 - 8,11 =  

79,546 – 56,425 =  6,16 – 0,77 =  
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